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| understand that | must check my answer is sensible
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1 1491+ 10 10173 x 3
2 | 1048—10 1111382+ 2
3 |20+ __ =97 12 | 0.08—0.01
4 -33 = 13(71_-1
__-33=34 73 25
S [90x90 14510+ 17
6 (2,4 .
11+11 15 | 816 + 24
& 16(2_5
7 | 567 + 1000 =
32 17 | 0.3 x 7.7
9 |09+0.3 18 (987,976-260,359
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4,142,524+ 4,369,692

20

4- 0.004

21

135 x 34
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25% x 540

24

(8+4) + 8+ 2
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27

10% of 24

28 | 492x 17
29 | 99.18 x 10
30 % of 40
31 |81+ 10
32 | 657,482~ 1,000
331, 1
2 4
34 % of __is8
35| __ +28=22
36 |_x7=49




Answers!

1 |501 10 |[519 19 8512216 28 |7872

2 |1038 11 {691 20 (3.996 29 |991.8
3 (77 12 |0.07 21 |4725 30 |8

4 |67 13 |5 2/15 22 |3./10 31 |91

5 [1800 14 (30 23 1125 32 456,482
6 |6/11 15 (34 24 |16 33 |3/4

7 |0.567 16 |5/30 or1/6 25 |1/21 34 |80

8 |9 17 |2.31 26 (2/20 1/10 35 616

9 1.2 18 |727617 27 2.4 36 |7







